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 เร.อง Reading 5 : Making and Implication 
 โดย พ่ีบอส พิเชฐ  ดานไทยนำ ทรูปลูกปญญา 

      	
  



Making an implication  
& 

Continuation 



 

 

infer, imply, assume, suggest, learn, 

probably หรือ likely 

 

คำถามประเภท Implication 	


conclude, summary หรือ summarize	




เม.อเจอคำถามเหลาน้ี  

ใหใชเทคนิคแบบเดียวกับการหา Detail  

โดยการหา Key Word  
เพ.อจะไดรูวาจะตองอานตรงไหน 



เม.อรูแลววาจะตองอาน ประโยคใด หรือ ยอหนาใด 
 หากอานไมรูเร.อง ใหอานประโยค หรือ ยอหนารายลอม  

แลว แยกขอมูลออกเปน 2 สวน 
คือ สวนของเหตุ และ ผล 



 The tests, conducted by the German investigator Michael 
Klieeisen at the Spanish Neuro Diagnostic Research Institute in 
Marbella, are the first to show how children’s brains react to the 
use of mobile phones. With the help of a scanner, Klieeisen was 
able to create picture of how the brains of an 11 – year – old 
boy and a 13 – year – old girl reacted while they used a mobile 
phone. The result was compared with similar tests using adult 
subjects. 



The tests showed that the brain activity of the child 
subjects was reduced significantly, especially on the side 
where the mobile phone was held, a few minutes after 

the call was begun, the report said. Also, brain activity 
was lower than normal in large sections of the brain for 

50 minutes after the end of the call,  
the test results showed. 
	




From the article, we can infer that mobile 

phones ______. 
1.  are a possible danger to children’s health 
2.  will be banned very soon 
3.  have caused permanent brain damage 

4.  will be used increasingly in the future 



  In recent years, the origin of tornado formation has been the 
subject of increasingly fruitful research. Nevertheless, some 
mystery still surrounds tornadoes, and their formation cannot 
be predicted with absolute accuracy, even when conditions for 
their occurrence seem just right.  
Tornadoes are usually associated with thunderstorm conditions. 
They require a moist airstream that is warm for the season and 
usually comes from a southerly direction. Tornadoes favor the 
warmest part of the day, when solar heating  
and thunderstorm development are at  
              their maximum. 



It can be concluded from the paragraph  
that  ______. 

1.  prediction of tornadoes will become more accurate 
in the future 

2.  scientists have studied the effect of tornadoes on fruit trees 
3.  if the right conditions exist, a tornado will form 

4.  many questions about tornado formation  

remain unanswered 



 Such a DNA bar code helped to convict Randall 
Jones, now on Death Row in Florida. Jones’s car got 
stuck in the mud. In search of a tow, he found a young 
couple asleep in a pickup truck parked by a fishing ramp. 
He shot each of them in the head with a rifle, dragged 
their bodies into the woods, used the truck to pull out 
his car, and then went back  
and raped the woman.  



 In such cases, standard blood or semen analysis 
can identify a suspect with a certainty of about 90 to 
95 percent, leaving some room for argument. However, 

Jones’s DNA pattern, which matched the sperm found 
in the victim’s body, could occur in only one person 

out of 9.34 billion-about double the present population 
of the world.	




The paragraph suggests that the DNA 

method ______. 
1. may convict those who haven’t committed crimes 
2. would also completely exonerate a defendant who was innocent 

3. is the preferred method of investigation by the police 
4. is more economical than blood or semen testing 



It can be inferred from the passage that 

Jones’s murder was ______. 

1.  premeditated 
2.  accidental 
3.  passionate 
4.  spontaneous 



  ตีความใหไดกอนวาประเด็นของยอหนาท่ีอานวาพูดถึงประเด็นใด ถาโจทย 
ใหเดาวายอหนาท่ีตามมานาจะพูดประเด็นใด ใหดูขอมูลสุดทายของยอหนาท่ี 

ไดอานจะเปนขอมูลเริ่มตนในประโยคถัดไป  
  ในขณะท่ีถาใหเดายอหนาท่ีเกิดกอนหนาตองคิดวาตัวเลือกใดท่ีนาจะเช.อม

ตอกับประเด็นของยอหนาท่ีเราอานไดดีท่ีสุดแต ประโยคแรกท่ีเราอานน้ัน
ไมใชคำตอบเราแนนอน   

เทคนิคในการทำขอสอบ Continuation	




  Mini-meals are not snack eaten between larger 
meals. Instead they are variety of small portions 
eaten throughout the day. The real challenge with 
this eating style is eating enough servings from each 
food group while not over-eating. Each mini-meal 
should be thought out and selected from nutritious 
foods, just as you would with your other meals. 



   A few tips can help you master grazing.  
Keep each mini-meal about the same size to avoid 
over-eating and yet satisfy your appetite.  

Appetizer-size portions in restaurants and at home 
are about the right size for mini-meals you eat now 

and divide them up throughout the day.  



  Grazing may not be for everyone. For some, 
frequent snacking could lead to overeating. Obesity 
experts generally advise that overweight people not 

graze since it may promote mindless eating. In 
addition, eating many times throughout the day 

may be inconvenient for some. 



  Remember that ultimately it is not how or when 
you eat that matters, but what you eat. The most 
important thing is to choose an eating style that 

matches your personal need. 



If this passage were to be continued, 
the next paragraph would most 
probably discuss __________. 

1.  restaurants 
2.  lifestyles 
3.  food choices 
4.  recommended exercise  



 
Once a bear has a taste for people food, they can be 

extremely persistent, says Mazur. Eleven of the 36 food-
conditioned bears were involved in 90 percent  
of the hazing events, the researchers found. Only one of 
these 11 bears completely stopped entering developed areas; 
four changed their behavior but still had to be hazed every 
year. The remaining six were so persistent and potentially 
dangerous that they were killed or relocated. 



 
One of these six bears was a cub. He didn’t learn to 
love human food from his mother, who was food-

conditioned herself but gave it up while raising her 
kid. But the cub was frequently near park visitors 

who approached and fed the animal. 



The paragraph that preceded the passage 

most probably deals with __________. 
1. the breeds of bears that are able to survive in the cities 
2. the factor that explains why some bears enter into cities 

3. the diets that bears are normally eating in the forest 
4. the forest trekking business that helps protect bears 




